I PRE BOARD EXAMINATION
HISTORY, CIVICS AND GEOGRAPHY
PAPER - 11
X- (ICSE)

(Maxinum Marks: 80)

(Two hours)

Ansuwers to this paper must be written on the paper provided éeparately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the answers.

Attemp Eight questions in all. Part-Iis compulsory.
All questions for Part- I are to be attempted. A total of Five questions are to be
attempted from Part- 1,
The intended marks for questions or parts of questions, are given in brackets [ |].

PART - I (30 Marks)
(Attempt all questions from this part)
Question.1
Study the extract of the Survey of India map sheet No. G43510 (Eastings
60-70, Northings 26-36) and answer the following questions
(i) What is the general direction of the flow of Sipu Nadi in the given map
extract? What is the white patch in the river in grid square 6632? - [2]
(ii) Anadra is more developed settlement than Gulabganj: Give two
reasons to support your answer. 2]
(iii) Give the meaning of the following [2]
(@) 3rin grid square 6227
(b) .313 in grid square 6627
(c) Brackish in grid square 6232
(d) 5rin grid square 6331
(iv) (a) What are the ‘Fire Lines’ in the forest area (6928) of the given map
extract? (1]
(b) What does the term ‘Diggi’ mean in grid square 6533? (1]
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. : 728. How
(v) (a) Which type of drainage pattern is found in grld square 6 "

is it different from 6034,

. : ?
(b) What do the black curved lines in grid square 6631 rgpresent. [1]

Question. 2
On the outline map of India provided [10]
(i) Mark and label Mount Kanchenjunga
(ii) Shade and label Coromandel Coastal plains.
(iii) Mark and label river Narmada
(iv) Shade and label Wular lake
(v) Draw and label Tropic of Cancer.
(vi) Draw and label Western Disturbance.
(vii) Mark and name Singhbhum.
(viii) Shade and name an area of laterite soil in southern part of India
(ix) Mark with a dot and name Kochi

(x) Shade and label an area of dense populationfowards north of
Tropic of Cancer.

Question.3
Choose the correct answer to the questions from the given options:

(1) The first and the last state to experience the South West monsoon wind

(1l

is:
(@) Maharashtra '(b) Goa
(c) Karnataka (d) Kerala
(2) ‘InSitu’ refers to the soil which is (1]
(a) Transported soil (b) Riverine soil
(c) found where it is not formed (d) found where it is formed
(3) Which of the following is a characteristic of Thorny and scrub
vegetation? (1]
(@) Conical trees (b) Breathing roots
(c) Dense canopy (d) Xerophytic vegetation
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(4) The most efficient mode of irrigation is: (1]

(@) Well (b) Sprinkler
(© Tank (d) Drip

(5) Bhakra Nangal project is constructed on : (1]
(@) Indus (b) Chenab '
(c) Ganga (d) Sutlej

(6) This crop is a shade loving plant and grows well on mountain slopes (1]
(@) Tea (b) Jute
(c) Cotton (d) Sugarcane

(7) Industries which are owned and managed by the government 1]
(@) Private sector industries (b) Joint sector industries
(c) State owned industries (d) Public sector industries

(8) Which of the following is not dependent on iron and steel industry? (1]
(@) Software industry ‘ (b) Shipbuilding industry
(c) Automobile industry (d) Railways

(9) Which of the following provides transport services in hilly areas [1]
(@) Pawan Hans (b) Pavan Doot
(c) Maruti Services (d) Vayu Hans

(10) — is the best eco-friendly methods for the solid waste
problem. (1]
(@) Recycling ; (b) Reusing
(c) Landfilling (d) Incineration

PART - II (50 Marks)
(Attempt any five questions from this part)

Question. 4
(i) Which type of pressure condition is present in India during summer?
Mention one factor responsible for it. 2]
(i) How Himalayas affect the climate of India? Give two factors. 2]
(iii) Give a geographical reason for each of the following [3]

(a) Annual range of temperature is lower in Mangaluru compared to
Bengaluru though both are situated on same latitude.

(b) Kalbaisakhi is a beneficial local winds

(c) The Western Disturbances are beneficial for agriculture in India.

3
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(iv) Study the climatic data and answer the following questions Bl
Month |Jan |Feb| Mar| Apr| May|Jun | July| Aug Sep |Oct |Nov Dec
Temp(°c)| 9.6 [16.2(20.2 |27.2{36.4 |44.6{40.2(39.2 |36.2{28.2 19.2 15.4

Rain(cm)|25.5(43 | 1.5 | - | 08| 23(125]|16.4]'5.3 |81 0.2 [21.2
(a) Calculate the annual range of temperature.
(b) Which winds bring rain to this station?
(c) Give the name to this station, (city).
Question. 5 "
(i) Differentiate between alluvial soil and red soil. 2)
(i) Name the following 2]

(@) This soil hardens like a stone when dry.
(b) This soil is found on the Northern plains.
(c) Due to heavy rain, the top layer of the soil is removed.
(d) When heavy rainfall creates grooves and cuts steep sided valley
as water runs off.
(iii) Give geographical reason for the following, 3]
(a) Alluvial soil is ex situ soil.
(b) Laterite soil are generally infertile.

(c) Ttis difficult to plough black soii after rains.
o measures taken to prevent

3)

(iv) What is Soil conservation? Mention any tw
soil erosion. '

Question. 6
(i) Mention two characteri
(i) Name the forest which is found in the delta regions. Name an important

stics of 'Tro.pical Deciduous forests. 2]

tree found here and its use. 2]
(iii) Give geographical reason for the following. [3]
(a) Desert plants have no leaves or leaves are reduced to spines
(b) Forests must be planted on mountain slopes.
(c) Tropical evergreen forests are commercially difficult to exploit.
3]

(iv) Write the uses of these trees.

(a) Rosewood (b) Sar;dalwood

(c) Silver Fir
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Question. 7
() Mention two conditions necessary for the construction of tubewells. 2]
(ii) Define the following. 2]
- (a) Rooftop rainwater harvesting
(b) Inundation canals
(iii) What is Drip Irrigation? Mention two disadvantages of drip
irrigation 3]

(iv) Mention rainwater harvesting techniques (Method) used in following

states- : (3]
(a) Rajasthan (b) Gujarat (c) Maharashtra
Question. 8
(i) Why minerals should be used judiciously (without wasting)? (2]
(ii) Name the following mineral: [2]

(@) Itis used to harden the steel. (b) Best quality of iron ore.
(c) Itis used to make aluminium. (d) It is highly ductile
(iii) (@) Name the four varieties of coal | [3]
(b) Which variety of coal is used for domestic purpose and why?
(iv) (a) What are the advantages of Non-conventional energy sources?
(Any two) 4 3]
(b) What is the biggest advantage of solar energy being used in homes?

Question. 9
(i) Mention any two sallent features of Indian agriculture. [2]
(i) Differentiate between kharif season and Rabi season. 2]
(iii) With reference to rice cultivation, answer the following. [3]

(a) Largest producer of rice in India '
(b) Which state gives highest yield/hectare in India?
(c) Which is the best method for its cultivation?
(iv) (a) Why sugarcane cultivation is gaining popularity in pemnsular
India? Give two reasons [3]
(b) State one problem of sugarcane cultivators in Northern plains.

(c) Differentiate between two major fibre crops of India. Give one

difference for each.
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Question. 10
(i) Explain the terms 2]
(a) Cooperative Sector Industry
(b) Joint Sector Industry

(ii) Why Bangalore is termed as ‘Silicon Valley of India’? [2|‘
(iii) From where does Rourkela steel gets its supply of- 3]
(@) Coal (b) Ironore (c) Power
(iv) What are the three by-products of Sugar Industry? Mention one use
of each. (3]
Question. 11
(i) Mention any two objectives of Golden Quadrilateral. (2]
(i) Why the government has decided to convert all the railway gauges
into Unigauge (Broadgauge)? Y [2]
(iii) Mention the following: ' [3]

(a) Two advantages of roadways
(b) One disadvantage of airways
(iv) (@) Name the terminal stations of Golden Quadrilateral. [3]

(b) This transport is free from geographical barriers.

Question. 12
(i) Define 2]
(a) Acid rain (b) Smog
(ii) Mention two advantages of Open Dumping. » 2]
(3]

(iii) Give reasons '
(a) We should have the use of plastics

(b) Recycling must be encouraged.

(c) Segregation of waste must be done before disposal

(iv) (a) What is Anaerobic composting? B3]

(b) State its one advantage and one disadvantage.
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L S PRI 1] 1 -

(This map, if uscd, must be fastened with ull other snswers)
Map of Indiu for Question 2,

ONLY FOR THE EXAMINER

(i) (“i)_ 5‘.) (v) (vi) Li\:’?’l) (viii)  (ix) (x) I'otal

U]

TIRSE s S

|

]

2023- 24 ICSE

Solution from next page



|

& g |
I RE RoARD  ExAMmATov (Re33 -39

S S S e e e e M e S e e i

N.C.G- PhrER-TL . GEOGRAPRY
_Cifhss-¥X.  (3.C.S.E)

_EHRT~I (30 V“Wx\@)

Bvawan T

il o e bealrs Roine Taled.

i @) Rdaine highd ) Fubosdhomer of Touck.
(b) S\mx heaau 313
) Saline lSqﬂ\d \oJQI\

) RdJiue hogt of Tha sven bank
0 Digp s Tk which 3wl o e clleclon of i,

W@y 6728 — Radiad |, 6034 - Demdnilic
o) Brokem anwl))

Rvmnmn.ZL
(\\ KU\;&K (g) e
(3] Feund whan J %euw«i (1) Public Sedn Tudhion
() XW&%:. \JeaJmJX\w (‘*) '56%*‘*”’\1— 'I\A.w;ly\iv,
(W) 'DJUP @) Pawom  Hawhb
(=) Su.ncj (\0) R(D}ci‘ma

(f\))@Fqu 9.‘1\( W o c&e«u\l\}j \v\aLQ_ [\ %&J\vj Je WNJ o ALM " ] Q“’O

(+0)

() X > ?J.ice. C\\wl:j, DiaaT ; DLA%DC’/M‘:N,T W\LMW W‘LJ(-&“;]*QQ) (H-\)

é‘:\
|,
kl-& l/
k.‘ <

0 +V

(o)




Blroansn 2

\o I‘W

Map of India for Question 2,

N

WESTERN
DISTURBANCE

/4

- )
l"".
N W
IS

WULAR LAKE

ensE PoPULATION
M. KANCHAVTUNG A

D

[

\Q\\‘ I ;:
\\\\“\\\\ \\“ \\'\\\\ oy N 7Y
ANCE

.\\\\\\\




TIVWET uXW, 2136 TS, AN k. theroe sses et A oo

B Nl

D vrrvems alle  mcn w

R T TN NS TN Bl SOl MO U1 WO & B 9a

CPART T (B0 MARKS)

Bvwoen y.

) Low Pruasung. comdilion -

MOQ\V\ COA o 3 ¥ s
lond | Tadiew eockenionce. iwdempe  head” duiingg Aswomen.

O Sun Alines c\»\mc:m‘d v Mead TM‘\c_ <9a Comcen -

((\\ e H\, &
12 Woandots ehimacdy te 538 <o) wind Pom Sihexia drow

N PN Tdia

. H‘\MQ&MGM ) Wy 0 R \:m\k“ﬁ SN Wenbsews inda vgé»’\u\«é
-“\QM Ay ,'\)'\L& “\\u.u\ \N\M\V\L .J\M,\.\Qj;\.‘_j FT°N \\Q.D\\’a M\ﬂdﬂ‘

()
@) R“"\‘-& N\S&- SES IJ\T\A\L o lv\q\aoﬁun\x A o c&xujv& C‘J-a .
(0} Kallbausakdni - - winds s iF ia perde o Tea cined i Antawm ol

Tole & Nece wm Weal Bw‘ano

Xt WY « wem Bedin. 854 hrew Ao T \
; s \ ' N wluck WA
e Jor Rk s abeadl et Jatg o
()
@ 35
(b Wealom Duihnbances
(©) Avorban , Ludkiane. (gfhern cXies oé Pu\'»jo)o\)
Rwawen. B
O Mu\;ioj\ e ' Red Seld
olXr W ‘):mu\wikk ).se'aj( s TX A J\QAJ\M Ade
PYRG SRV .Q)‘Q\d Je M W CNQ&\U\ el W J\A " C.GQMU\
o/ o o nehlamithel by Yleods. T poees wd bl
NaAung .
o/ 1X W J‘.Jc)o\ w Vawne, Ir W ouch W Xt
(‘\\u« ML O cadh A_.A_k
(g OAhor nddevad pod can et

(1+V |

G+

QJr\+\>r

:

<
g
o
D

Qﬂ+\>§

1+1) |




()

(i
| (q)
(b)

Y O SN = 'ﬂ-m |
©) Wdede sel () Leacking a4}
() Aluviad Seid UDG“Ma }w Ersaiom <~‘l'f% :
Mu\)id e ,&s‘& o —\\hl.a ' twwqul \06 \MJQ/\ W uu»\,x (HH\) b
Laeade - - - i“{\&‘&c SYN Wl«uﬁ o bersuws i wadung . |

Mene evan ‘Nﬁ QAL \v\m o .ﬂﬁa.t):\,(\«d (A“‘Zg N>
T ooy w I becowmes AT T SN o
Sell CEWALW g — 13 » ow b\%\ﬁ wode \ﬂq em Tp b)\e\w\j
A6l enrion Fo adaiw e oy o ol A
Sl ()
&%&M&W e o v\\?.t)p\ e\w\za,ua,‘
Sy Qw-%\ma “Shlfin Relly| O 0
CJ\.&‘: Jwi;'hw 'CNMJJ\M &5 Daws ande Bw\aﬂq_
RW»@L é

1 -
o

(ii)

| (1)
()
(1)

(©)

Aol g | Thein Leses Jor oloe™
6 ‘ 3
w&\k Asmwmnen Jo Cé:lux% @jeg weehy &»Ju\.ﬁ A}»\AK& - “_L

—\Nu_{‘ ang_ -XGM\\L L bw /\'XQN\A

:\s.\a do W  howe &M U\\«Wk As @ -Q‘ accenill, .
g o Semmasialy woedd explsiil |
(ﬂvxa‘\‘ws)

LJ\TMQJD /—\"\MI %‘“\qw\azxsvc

(5“1 Alan J\s.ie\)avj ‘%&J)

Deawnd - - = - *““‘/5 Je Stmanve, w;rvv\'

Bancals - = == Aleber T brewad {"\'-AA*UL. A BB and ] :
TJ\(.A;'\C_A_Q SN A - @CMGJ SUN .lw»\k ' OMXAL li

wowiced, Alan
hawe AW‘UL. \X\'\A.U\ﬁa.hw;j‘\‘ X}) QKL

v B.E BW 1

a» \3‘. edd \zqkm,u(( Tl

—

y ==, X
+
P
4

d+v)

s

/ N
Ut 1+




(v o
o Rerewssd = Funi hunt \w;)lwd ,\’.Qeovx\oml; Saxuing Wsse., Neowend
(b) Sw\&c&ms&* \\o&\kl ou.{\ ) C(U\\D‘\\\a ) C—M\MJ,\'(A ) ?U\%“Mw%

@S Dvan B - ?cv\m/\ }:L&‘: ) W\ojc)\(’)) y E/ka\ﬁ“(s ) ?M)u\»\ﬁ CaAl

(ﬁ\:g\s e W Q;‘”;)’\)

Avoaoen |

(1) Erndiliimos, «wa . conabuelis 06 tabeswsd
Ground woder Tahle Ahsdl be \\iak-
SG‘J\ A)v\us&,L bSe

Rreos wond ack icrend oaw Je subleoviak greuwnd. Lot
Reglan. el ey A

' (._‘\j AL\&\J.(L Le_ C\\!QLQ&M{-
Lc\)\%e_ %Q;a\\&e Qngo /\L\MAA_ \BL"\LU\L_ W VJA A»J\J\.Q\u\ka (A -\_‘*"3)
(G\w& elen Jlﬁth\rmJ \>&§) E

omd bwneught Asum YL W (Pvo) pihes Wi T, bR, W
bomwg’l():a Jo be mLsﬁ -%J—m s -&wx Mwﬂpﬁn&di%;u
() T\\\&V\A\&e\/\ Canedy — Theas CC\\\JA onc e, eud %\w\ A ouwen

e\ ¥ty ¢ QW\j o\wQ \mmu.ﬁe. ) WA oA down o i heod T
J\tﬁu&Je Tha %QW o Walen-

i) Do Tovgelion — T s il sy 1, ke Aoty 3 5
nehs ¢ e Woodn . B Radic e 1y uadl Wil o AM«ELLG\\,E:

toeagh whidh walo hus ew duibping (ellivg) Radily.
w6 s cxlx\wt\'~k QA
.-E—.&T:&:QAC,&J :3;\\\ \n:_, Mb'\_u_“\\m\\\ MWX/S“"&M‘

unolele e .
Cuden B wl barhaly dod el cqubwment 1y ot
ﬁ@&t\«n&, .J com M,Qj—'d ;j\ d“‘aq'\*d » b"&}%‘%

(i\(l;)\) Radudk“‘* . on\u(b,) Ku\«cl);) Bo@QiA )Tomb,m) Vepwell
Wfeegerd — Khadin
i~ Wna — B»\&\\A,QM)TQ.Q)}) Banavas s slcbbed bowda

( h\u« e ‘\\M)

W Rooler swinicsts by — Reimaoitin 1 ol ) o sun neodlh
N

i)

()

(+1)



MWW LRI TREY )

——— et

| (v

T I,

-

TN WEEL. TR TR e e . x

<))
(o)
(b)

(o)

]

| N

Bwrnsen 3 |
Mintnals Tohe o Lo T Jo deralo geodsgically - 4o thay Aheulld

(o) N\Q\'ﬁm\x% (<) BMLX-J&
) m&a“&itt ) C"M’“

S e Y e - : .

be wad gu&uuu&a wilhedd uocuaiv.d

H\Q\!\S\QJL , Riduwanewn ) Lia"‘ﬂ-&; Pea

m\mm; Wdosinsws - (

T"“'a ewid Jdile Awehe owd anh

H:L\)maudm od New- comyenliond) %U\a'd ASUNLeA (A“_*a T‘*’..O) (LHO

Twma ont. Sumewsahle Ae Wl WO clowmes Jh Muurul.
Tku« ONZ LMV Bwwae v}M Ae Mad\o&mﬁw

T conn be Yabbed o Jarge Acalle ot ova Mace o od wuhon ol plcss
T‘-—“d o ceak W\m (}\u% Alan Jult\;ooj \m‘“‘j)_ %

SJ«:U\ emungy W by \u.._.l_ VN omd. & A

Avouwan
o Jier | . 0. |, M P(a.MQuMW\L (B-\ﬁv—LL)O
T Q/\‘> \ a,. & lﬁmse\«/}

.

Iy W m‘JU\ Acarow CJ\O"D
, o Abw ' Jume o Soxdi G A e oot [J\)w o\v.L

PRV ed v Neyomber "\‘U\W-qe,l Sg—
(ﬂ\ua e O eadn Au\-t)

(1+1)

(+1)

[ ——t O N . Y



b))

(1v)

ok

P

(&)

()

)

(b)
(v
() @

Q
(<A

©_
';\E\QA&AM‘A@N\ARQM (A‘%M)
j wade 1A %owo\tmug Wi ahhemce % Jos oud. v&*"‘q

; @) Wy %o«dwo
I ®) Tl Nedu
1 ©) MO\V\W_ N\Cﬂ\,‘L

%GGA\ QM%C%AMQ widh hak ‘%@an o mewm AJOARJ:I A

'S\L&w\ {“W N W C-66+V\Qx\u_ AJM ‘“1\“-&)0\ A cdosA. av\ \%M“‘M

CRug otlun devat painct)

ool X bt waackio (Proy ome uid ebluoaction)
o Lso & Fnash 0
xE i e

ccllon Tke.

1‘1'_ \v\w'-tl.u, {\\Vuf\o cslfon TUA\QQ

S ds ONG. uul\‘w\ \chm)‘anx ‘.A‘.ma LR SRV Ruwsww an ROTYRON 5&}6 an .At
SLQAW\ IQWL Mwm%mb“&
%_\w,_\ 6 O M%&A«lv\ }‘1 mVxMOsttx\cJ\ \E A
P\% wwckaa*Gd AU

(g 6thon devanct paiut) (R v )

Hwsmon \O

cicocporalin Seilin Tduifiy — Ty e cund ol weagel. on
podive bariy by there who q:“hm&»m st axwwﬁmi\a

Toid_Sedon Tduilw — Thay ane 5&1\3&3 waw-.fd \ba e cemdng ) on

\]

A.XJQ— CQO\NU\V\W\ Bl \b\¢ M\)Je, -%U\M

& w__-..I\AAQm AAUL jG «Q ¢ N6. pe szti T!Lc)\\,\ 8

D — Tanie, Tallhen , Konka,
S\.\\«&U\‘a‘i\l\x\ ) Kte‘\ﬂd\’\‘u\

) <€

s G
— Hd\o..\l\L'L

) Poanran. ML‘\PE"‘ *“’\ <ach)

9

\ /1
W&'LL“” Behrncher) card by, )

—

/HH!)

1)

(1)

(1)

Q)

/@H\)




(iv) i

. N\AQM% - \M UJQ,\ i
M - as ok DT 5 Powin odeohed o Suvthlic nubhaf

J e ATtV S - e
B&%LM@ = Wk ﬁmf\ N/L.nﬁ \5“450\ owd CN\A/LMNL b+

*.PMMW\\\‘\\~ i"\u)m\\ﬂ wanc § Shee Pelinh 9 canbem \>w\°% ot ‘1

(A“?‘, Bwe VAL Q\l‘”\ cach )
Avanson \\
A [Res &\aﬁuj:.nw\ 6% C&a\cl.»«\ QMMJWJ Q‘\'\)
o Tr J‘JM Te owd. datones \QJ\UUM g C,\X‘W\ &Q I\'\A-A&

Bdlon wibnomend ) Twehy Je W Tk Trosaked
I halba e mdudiniad Q;\wdk 4 Awallen Tounon thonsugh MJMLA
me.s\wd‘ uﬁ)\jcm&j‘% ‘u\g‘\_wq_n_ A nesw “JWJ -%aw woeda b Jend-
B pewslon Ndiewdd Iekegralion  (Awg thon nelevondt beivct)

(i) | TR qevarnmamesd - - oo — b\“i\awae. an Aqmmw.wm%od
c\wLélQ/&«\ e (5:% Al J\Aum\d(‘ \>si\d) <Q)
(i)
(o) MM%M«M EH\)

c,ku)\;uT WAGOMA —t'uws)pmi Jo Lk vl e \A!\)Om DR A
Rg.“/l}, oo he \V\ﬂ.i'-j. W J\!}\v\a’(’. awaA MO‘:&Q}M QKL\TL‘MRA
T\J‘Q MWL dsen o dsen ADwice -

Tu'ﬁ o A.«o\ %v\ W& c:w\.@ll(u " (Pa%s#\.u\ M&)
UDB Mnl\:mv}%t Q;NM"&/\
oot
.M?} M\JA
o] combptelion
o en ‘:::_D‘H oaAd\u?ce_
o Shu
il cxoovgng el

Jed
UVLO\] 'DJL,\ y l(cy“hju )C.\\g_\r\\\u,i N MQM)QM d\&ﬂ-*j
() A TMMJJ_ ( ; ‘
\

W E R R F = ET ERE Y P T NEEET




()

®)
&)

Gin)
()
(1)
©)

(1v)
GV,

(b

]

ﬂ

H\w&m \Q

R

@ Aok et~ R ndiing Slphwic. ol vk N asid. ol om

Carnth = %&J\W\ OQ O Naw »
S%*T-\ML CM‘\V\JA.OV\ G%SM‘V\\-L ol ‘%03
Twe Aiaak\maxq.&q 96 @v‘,w\ ‘_bm».)p\..é.
T g ok bad GHLSUJ\-M Ak
X beeowen aneedd \{GJ\W»J G O i -
T can covkamin “§ 3:\\’“"4“)5 amd, MM&\L\\AA\\d Lunér\ \MAJ'U’

wL)IM)“—“—M% Yo Nedues woaske omd_ \mﬂtxw
i M—--~W&LM&IW e waste - T Aawstie
RJ&L :dem Boain Joewn pelliKion -

Sk oJiowm - <~ & Yo Aat sl wadke Jon s
9 Sl £ (Mam%ndﬁ “ocbdd)

HV\QLAA}; c_m)ge-{x\\% -~ m:::“f “‘3 ;L;;ahtkf:«s :ﬁ@\ﬂ cew,\:»-‘:"

Alvadeger  (Rug ont)

4T Prsduees UG?YM CMAL‘J sd Methose_ omd 0, withh cos B

T caw b .
- vy Ve %M Ye c\o"lu M hame_ %w\ \Nl&cu&m UAR -

Dusedvedlay
3 J‘\g_svuhu)) &Q\A\ M c.uv\\b& \»..mL -401\ othan \b@m‘

-

(+9)

(1+V)

D

)




